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261| 2 |28 A B |BEFEHIEES 28008 20,000 958,442
262| 2 |28 LRARE |h—ANX—YSBEE2 A5 (52 1,100 957,342
263| 2 |28 £ ¥ B|SERRE38D (TED 79,100 878,242
264| 2 |28 £ ¥ B|SERESK28D TED 481 877,761
265 3 | 1 EREAE |FEESN (A0 BIEHES55008+EFHR1,000M0 6,500 871,261
266| 3| 2 LRGRE /S8 R— RS (TREES 15,510 855,751
267| 3| 4 RRARE |BESHECESIHYY YR (5ED 1,670 854,081
268| 3 | 4 |XEugES B B E|IERRREET GRA) 31,467 822,614
269] 3| 6 E ¥ B |DrOYIUCHSEER 28D) ERM) 203 822,411
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270} 3| 7 RIRNRE [SELR— MERE (EDRI - K2 T« V2 « JTRI-H b-Y3 540,100 282,311
27111 3| 7 RIRAIRE (S8 R— MERE (GRAFEN « BJTRI-K U-Y3) 770 281,541
272 3| 7 RRERE |UR— RREEA 188 SNV =L (PRI 4,180 277,361
273] 3| 7 F ¥ 8 |Xafr—wERReaeD) &RA 1,350 276,011
274] 3 |1 |XEERHE LRARE [SERE (5~ AXEAFERED 220 275,791
275 3 |11 £ ¥ B |PCTIMBESEE 2AD) (ERA) 1,206 274,585
276) 3 |17 A 1 B |BEARHIEE3RDBNE ERM) 13,700 260,885
277) 3 |17 A 1t B |BEARBIEE3ROEE (SIRM) 845 260,040
278] 3 [19 = B B \HESSRRNR (SRA 185 259,255
279] 3 [22 RIRARE |BESRaECESAY U VR (55D 1,350 257,905
280 3 [24 EREAE |FRIETE GTHE38D 4,800 253,109
281| 3 |27 £ ¥ 8 |OE-#)-2R GAD) &ERA) 1,178 251,927
282 3 |27 = B B|UYISADBAD (ERA 374 251,553
283] 3 [28 = B B\SHNRE4AD (TED 79,100 172,453
284] 3 |28 = B B|\SHMERHK38D (TED 481 171,972
285] 3 |31 A & |BEFEHDEES 3800 20,000 151,972
286] 3 | 31 LHLEE |/h—AX—VSBE38D (52 1,100 150,872
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